M HmE

HET-A=+—HL

K& KEF
BAL: TTARK BT 4 —ETTF
L 10,854,967 9,282,248 5,821,231 4,517,722 3,516,320
RAERE BT 4,717,019 3,375,412 947,717 348,354 78,990
—EEER BN 43.45% 36.36% 16.28% 7.71% 2.25%
AT IS 4,952,964 4,929,513 4,085,420 3,524,347 3,050,839
—EEERCES L 45.63% 53.11% 70.18% 78.01% 86.76%
ES 1,119,820 899,847 702,437 524,610 369,186
—HEEBEZ2EOL 10.32% 9.69% 12.07% 11.61% 10.50%
HEuE® 65,164 77,475 85,657 120,412 17,305
—EEERcES L 0.60% 0.84% 1.47% 2.67% 0.49%
EF 1,352,961 1,172,731 788,177 572,222 574,431
EFR(%) (GE1) 12.46 12.63 13.54 12.67 16.34
AW E(%) (3F2) 20.26 19.44 19.57 17.26 18.59
1SR R 255,323 210,856 121,610 51,522 21,306
LT (%) (513) 2.35 2.27 2.09 1.14 0.61
1% B & A 55 215,540 163,623 126,598 85,475 50,900
FREE (%) (554) 1.99 1.76 217 1.89 1.45
BRAR (ARE) (5£5) 0.367% 0.337T 0.317T 0.237¢ 0.167C
BRAEHRE (ARE) 0.05 — — — —
BRRERE (ARE) 0.07 0.08 — — —
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B FLARE

EEFE 1,728,349 1,279,190 587,108 464,974 326,994
BEMRME 4,810,711 4,061,904 2,873,484 1,682,235 1,784,484
BfERE 2,861,594 2,562,978 2,017,936 1,170,407 1,415,293
BeFne 79,023 452,419 119,943 (71,808) 199,867
19 4R 8 B HR R 5.4 4.73 5.56 4.96 3.31
T FEAEKEE 15.22 17.93 24.07 20.67 14.84
BB ELE (%) (516) 0 5.12 5.92 8.32 —
TREN L 3 (%) 0.79 0.78 0.54 0.59 0.63
FETIR A (B) 62 59 57 54 57
FERAERE(H) 29 30 33 34 48
Fim & A 3,123 2,503 1,884 1,216 944

A1y BETNFURAEREEATMLHBENLRE  ARBE_TTMENEFNEF13.78% °

2. HEWEE: (EFN+HEEURETAEBRAN) ST  GAREERARBR T EHTECENREES - BT URASE
A AABENLSE  AEE_ZTMENGFARERR22.41% °

3° ETERUKAERBEQRELCHENIE  AEE_TTNFNEETEE52.60%

4~ ETFURAERBEQARAMTLBEOLE  AEE_TTNFNFIEER2.20%

5 SRAMNZEHHEHTEEBMETOEE - AEDEITL B INEFSE595,041,0000% (ZFZ =4 : 503,200,000
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